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MODEL TEST 1

1. The slope of a line perpendicular to the line

Ty
h tionis — — = =1
whnose equation Is 3 A IS


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iK062VfbphYp

Answer: C

o Watch Video Solution

2. What is the range of the data set

8,12,12,15,18?


https://dl.doubtnut.com/l/_iK062VfbphYp
https://dl.doubtnut.com/l/_rsEt0V7gLL45

A.10

B. 12

C.13

D. 15

Answer: A

° Watch Video Solution

3. If f(x) = wf—:zg, for what value(s) of x

does the graph of y=f(x) have a vertical

asymptote?


https://dl.doubtnut.com/l/_rsEt0V7gLL45
https://dl.doubtnut.com/l/_pWEd3oIdp7zZ

B.O

C.—-7,0,7

D.— 7,7

Answer: A

° Watch Video Solution

4. If f(z) =2z +3 and g(z) = z° + 1,

then f(g(2)) =


https://dl.doubtnut.com/l/_pWEd3oIdp7zZ
https://dl.doubtnut.com/l/_PCAmvaGfWoCY

A 224

B.3

C. 3.61

D.6

Answer: C

° Watch Video Solution

5.What is the value of x if 411

= 877



https://dl.doubtnut.com/l/_PCAmvaGfWoCY
https://dl.doubtnut.com/l/_quktzrlEQWLX

B.O

C.1

D.2

Answer: D

o Watch Video Solution

6. The circumference

22 +y? — 10y — 36 = O'is

A. 38

of

circle


https://dl.doubtnut.com/l/_quktzrlEQWLX
https://dl.doubtnut.com/l/_6u1bXfgnRIKs

B. 49

C.54

D. 125

Answer: B

o Watch Video Solution

7. Twenty-five percent of a group of unrelated
students are only children. The students are

asked one at a time whether they are only


https://dl.doubtnut.com/l/_6u1bXfgnRIKs
https://dl.doubtnut.com/l/_6m3Uh6HXhycW

children. What is the probability that the 5th

student asked is the first only child?

A. 0.00098

B. 0.08

C.0.24

D. 0.25

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6m3Uh6HXhycW

8. If f(x) =2 for all real numbers x, then

flo+2) =

A.O
B.2

C.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oNVsLsc4g6uN
https://dl.doubtnut.com/l/_Oo1leXcQlL39

9. The volume of the regtion between two

concentric spheres of radii 2 and 5 is

Figure not drawn o scale

A. 28

B. 66

C.113


https://dl.doubtnut.com/l/_Oo1leXcQlL39

D. 490

Answer: D

o Watch Video Solution

10. If a,p and c are real numbers and if

9a3c8
Ph3S —

- , then a could equal

W= o~

C.9


https://dl.doubtnut.com/l/_Oo1leXcQlL39
https://dl.doubtnut.com/l/_KZsJcnP0wA0R

D.3

Answer: D

o Watch Video Solution

11. In right triangle, ABC, AB=10,BC=8,AC=6.

>

ot ol | w o w


https://dl.doubtnut.com/l/_KZsJcnP0wA0R
https://dl.doubtnut.com/l/_zkOzFcdmNWS3

Answer: C

o Watch Video Solution

12.if 16° = 4 and 5°"¥ = 625, then y=

Al

Answer: C


https://dl.doubtnut.com/l/_zkOzFcdmNWS3
https://dl.doubtnut.com/l/_3mlOi6faFRCn

° Watch Video Solution

13. If the parameter is eliminated from the
equations = = t* + 1 and y = 2¢, then the

relation between x and y is

Ay=z —1
B.y=1—=
Cyl=z—1
D.y2:4a:—4

Answer: D


https://dl.doubtnut.com/l/_3mlOi6faFRCn
https://dl.doubtnut.com/l/_sBIk18Xxwdey

° Watch Video Solution

14. Let f(x) be a polynomial function:
f(x) =z +.... if f(1)=0 and (2)=0, then
f(x) is divisible by

Az —3

B.z2 — 2

C.z% + 2

D.w2—3w+2

Answer: D


https://dl.doubtnut.com/l/_sBIk18Xxwdey
https://dl.doubtnut.com/l/_CaiO8NEUHvbz

° Watch Video Solution

15. If
xr—y=2,y—2=4, andex —y—2= —3
, then y=

A1

B.5

C.9

D. 11

Answer: C


https://dl.doubtnut.com/l/_CaiO8NEUHvbz
https://dl.doubtnut.com/l/_bQ0bhelLw6Od

° Watch Video Solution

16. If z>0,a=zcosf, and b = zsinb,

then \/OL2 + b=

A1l
B.z
C.2z

D.zcos@sinf

Answer: B

| 8


https://dl.doubtnut.com/l/_bQ0bhelLw6Od
https://dl.doubtnut.com/l/_H27DWLAcr5bw

17. If the vertices of a triangle are (u,0),(v,8),

and (0,0) then the area of the triiangle is

A. 4|u]
B. 2|
C. |uv|

D. 2|uv|

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_H27DWLAcr5bw
https://dl.doubtnut.com/l/_TADTl822DGhp

18. What is the difference between the min
and max values of the function f defined by
f(z) = 22% 4 3z — 8 on the interval | — 2, 5]
?

A7

B.57.75

C.63

D. 66.13

Answer: D


https://dl.doubtnut.com/l/_TADTl822DGhp
https://dl.doubtnut.com/l/_qL9sGphVaso5

° Watch Video Solution

19. What is the probability that a prime
number is less than 7, given that it is less than

13?7

>

gw N~ o W

Answer: D


https://dl.doubtnut.com/l/_qL9sGphVaso5
https://dl.doubtnut.com/l/_hE8N1TY39qk4

° Watch Video Solution

20.The ellipse 42* + 8y® = 64 and the circle
z? + y* = 9 intersect at points where the y-

coordinates is

A £4/2
B.4+./5
C.£.6

D. £4/7

Answer: D


https://dl.doubtnut.com/l/_hE8N1TY39qk4
https://dl.doubtnut.com/l/_mh3cz5VCvwsZ

° Watch Video Solution

21. Each term of a sequence, after the first, is
inversely proportional to the term preceding
it. If the first two terms are 2 and 6, what is the
twelfth them?

A. 2

B.6

C. 46

D.2 - 3!


https://dl.doubtnut.com/l/_mh3cz5VCvwsZ
https://dl.doubtnut.com/l/_dnP6rhIBEVkA

Answer: B

o Watch Video Solution

22. A company offers you the use of its
computer for a fee. Plan A costs $4 6 to join
and then $9 per hour to use the compound.
Plan B costs $25 to join and then $2.25 per
hour to use the computer. After how many
minutes of use would the cost of plan A be the

samee as the cost of plan B?


https://dl.doubtnut.com/l/_dnP6rhIBEVkA
https://dl.doubtnut.com/l/_206KVZS5AKRg

A. 18052

B.173

C. 169

D. 165

Answer: C

o Watch Video Solution

23. if the probability that the Giants will win
the NFC championship is p and if the

probability that the raiders will wini the AFC


https://dl.doubtnut.com/l/_206KVZS5AKRg
https://dl.doubtnut.com/l/_PK5Zq0YizO9r

championship is g, what is the probability that
only one of these teams will win its

respectgive championship?

A. pq
B.p + q — 2pq
C.lp— ¢

D.1 — pq

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PK5Zq0YizO9r
https://dl.doubtnut.com/l/_gIvIv1r21Ox4

24. What is the sum of the infinite geometric

series whose first two terms are 3 and 1?

A .15

B.4.5

C.9

D. 12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gIvIv1r21Ox4

453!
450!3!

25. The value of is

A. greater than 10%

B. between 10'° and 10'%

C. betweenn 10 and 10

D. less than 10

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_t1b1VvwFtaBo

26. If S is the angle formed by the line

2y = 3x + 7 and the axis, then ZA equals

A. —45°

B.0°

C.56°

D. 72°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9um6yRbQUl3D
https://dl.doubtnut.com/l/_tjAtw9AI8ixX

27. A US. dollar equals 0.716 European euros,

and a Japanese yen equals 0.00776 European

euros. How many USgt dollars equal a

Japanese yen?

A. 0.0056

B. 0.011

C.94.2

D. 179.98

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tjAtw9AI8ixX

28. If (z —4)° +4(y — 3)° = 16 is graphed,
the sum cf the distances from any fixed point
on the curve to the two foci is

A 4

B.8

C.12

D. 16

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tjAtw9AI8ixX
https://dl.doubtnut.com/l/_VzdD1UeWDRLX

29. In the equation z? + kz + 54 = 0, one
root is twice the other root. The value(s) of k is
(are)

A.—D5.2

B.+15.6

C.22.0

D. £5.2

Answer:

l o Watch Video Solution


https://dl.doubtnut.com/l/_VzdD1UeWDRLX
https://dl.doubtnut.com/l/_zIdstIlNDsH5

30. The remainder obtained when
3zt + Tz + 822 — 2z — 3 is divided by x+1

ISS

B.O
C.3

D.5

Answer: C

| oo |


https://dl.doubtnut.com/l/_zIdstIlNDsH5
https://dl.doubtnut.com/l/_qKAmoNgZAvu4

| & Watch Video Solution

3. If f(z) =e€® and g(z) = f(z) + f 1,
what does g(2) equal?

A. 51

B.74

C.75

D. 8.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qKAmoNgZAvu4
https://dl.doubtnut.com/l/_HLjWSO7kjwYU

32. if zp =3 and x,,.1 = /4 + x,, then

Ly =

A.2.65

B. 2.58

C.2.56

D. 2.55

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HLjWSO7kjwYU
https://dl.doubtnut.com/l/_oLS58HcEiHpc

33. For what values of k does the graph of

(z —2k)"  (y—3k)°
T — 3 = 1 pass through

the origin?

A.only O

B.only 1

C.x=1

D.£+/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GUxTmQF9RNjR

1 — 0 3
o8 i, then 0=

34, if
! sin @ 3

A.15°

B.30°

C.45°

D. 60°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GUxTmQF9RNjR
https://dl.doubtnut.com/l/_rZhzcuYRe47w

35.
>+ 3z +2 <0 and f(z) = z° — 3z + 2,

then

A0< f(z) <6

5. f(2) > >

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_mgGArhHvi3Md

36. If f(x) = |z|+ [x], where [x] is the
greatest integer less than or equal to x, the

value of f( — 2.5) + f(1.5) is

B.1
C.15

D. 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Kc28wpxNPz6c

37. If (secz)(tanxz) < 0, which of the
following must be true?

l. tanz < 0

ll.Cscxcotx <0

l1l. X'is in the third or fourth quadrant

A.lonly
B. Il only
C.lll only
D. Il and lll

Answer: C


https://dl.doubtnut.com/l/_EQBimNMz3N2D

° Watch Video Solution

38. At the end of a meeting all participants
shook hands with each other. Twenty-eight
handshakes were exchanged. How many
people were at the meeting?

A7

B.8

C.14

D. 28


https://dl.doubtnut.com/l/_EQBimNMz3N2D
https://dl.doubtnut.com/l/_TOnvwVqiIJbE

Answer: B

o Watch Video Solution

39. Suppose the graph of f(z) = 2z is

translated 3 units down and 2 units right. If
the resulting graph represents the graph of
g(x), what is the value of g( — 1.2) ?

A —1.72

B. —0.12

C.2.88


https://dl.doubtnut.com/l/_TOnvwVqiIJbE
https://dl.doubtnut.com/l/_PHJ2Q3tlQLrs

D. 17.48

Answer: D

o Watch Video Solution

r -5 -3 -1 1
40.
y 0 4 -3 0

Four points on the graph of a polynomial P are

shown in the table above. If P is a polynomial


https://dl.doubtnut.com/l/_PHJ2Q3tlQLrs
https://dl.doubtnut.com/l/_afE6W5XdvUm7

of degree 3, then P(x) could equal

<
-
BN
"
-

A. a(x-5)(x-2)(x+1)

B. a(x-5)(x+2)(x+1)

C. a(x+5)(x-2)(x-1)

D. a(x+5)(x+2)(x-1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_afE6W5XdvUm7

41. If f(x) = ax + b, which of the following
make(s) f(z) = f(z)?
l. a=-1, b=any real number
. A=1, b=0
lll. A=any real number, b=0
A.Only |
B. Only I

C.only Il

D.Onlyland Il

Answer: D


https://dl.doubtnut.com/l/_RVy41TtK63qu

° Watch Video Solution

42, In the figure above,
/A =110°,a = /6, and b= 2. what is

the value of ZC?

A.50°

B.25°


https://dl.doubtnut.com/l/_RVy41TtK63qu
https://dl.doubtnut.com/l/_GH3ayKw1jy0K

C.20°

D.15°

Answer: C

° Watch Video Solution

43. If vector 7:(1, V/3) and vector

0 = (3, — 2) find the value of ‘37 — 7)

A 54

B.6


https://dl.doubtnut.com/l/_GH3ayKw1jy0K
https://dl.doubtnut.com/l/_YxSdXu8P9E6r

C.7

D.7.2

Answer: D

° Watch Video Solution

44. If f(z) = v/z° — 1 and g(z) = 10

T + 2
then g(f(3))=

A.0.2

B.1.7


https://dl.doubtnut.com/l/_YxSdXu8P9E6r
https://dl.doubtnut.com/l/_PVLSWrZ7XBnt

C. 21

D.3.5

Answer: C

° Watch Video Solution

45.

In A ABC above, a=2x, b=3x+2, c=4/12, and


https://dl.doubtnut.com/l/_PVLSWrZ7XBnt
https://dl.doubtnut.com/l/_weWXA2XoA4Rx

/C = 60°.Find x.

A. 0.50

B.0.64

C.0.77

D.1.64

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_weWXA2XoA4Rx

46. If log,b = and log,7 =y,

log, /1,4 =

>

N~ N~ N~ N
8
<

N @
w T
_|_
@ <
~

o
—~~
<

I

8

~

Answer: D

then

o Watch Video Solution



https://dl.doubtnut.com/l/_BFivzFP0CNxY
https://dl.doubtnut.com/l/_Z317aPBwa8lM

47. If f(x) = 3z*> + 4 + 5, what must the
value of k equal so that the graph of f(xz — k)

will be symmetric to the y-axis?

A —4
g 2
-3
c 2
3
D2
"3
Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Z317aPBwa8lM
https://dl.doubtnut.com/l/_pILWBPoPqTX2

48.1f f(z) = cosz and g(z) = 2z + 1, which
of the following are even functions?

L f(z) - g(z)

Il f(g(z))

. g(f(z))

A.only |
B.only I
C.only Il

D.Onlyland Il

Answer: C



https://dl.doubtnut.com/l/_pILWBPoPqTX2

\ o Watch Video Solution

49.
A cylinder whose base radius is 3 is inscribed

in a sphere of radius 5. what is the difference


https://dl.doubtnut.com/l/_pILWBPoPqTX2
https://dl.doubtnut.com/l/_IeV46qWZAyh5

between the volume of the sphere annd the

volume of the cylinder?

A. 88

B. 297

C.354

D. 448

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IeV46qWZAyh5

LY
r—Y

50. Under which conditions s

negative?

Ad<y<cz

B.x <y<O0

Czx<0<y

Dy<ax <0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CMcorz4FRHZK

